Lime ()™ + ! + 3™ pam m

M=>00 C../[)"V NL? Lom™

¥

REa
Con e )™ ( + i l ]
— Q/‘JYV\ ) 4 (m+,\)~w+ (MM)m'/X"Vlm,

\
- oo =
-3 /Y\/M’ ((\,,)m.m-,u_F )
m"’\/
M1\ #om! 37
= Vkmn < e > - Lim, & (NUML(M”)M i
™

l o Q/{/ 3™ _ ,QA: ?)M/ .
™M ey O kekne ()™ MN\M
— —
Lol v
CO)™m?
¢ [imm )~ (- -
M v m— - O

\—-WW\A.UJM
ol

!

, ! _
‘ (m+4)™ = o —> 0.

Q/ww(*_-)m~ /I+D+o_

e O +




=
2
§7
o
g
-+
!
Ca‘
=
3
=
3\.
g
3
3
|

-
[ B
m ! N\: B (M‘Pl) (m+1) —m* ~ A +2
Lk M - 141 - M M? >
Y+ 1
= Lim o Lw\)'(vf"vl—émntf (o™ =
S ({ngj\) ot 4+ 6+ 50 boo 4y 1‘3'5
I
M
R L
(ohle  Lorp :l “W‘ Vo~
Yol
Y A m 6
6 !
| fy

(&)



Liom

M —> 0O

I

H

1
Lim,

M.

A
o (/{000)20 .

m/’tX_(/H— 1-9;,%0 )

¥ (2% +1000)

fovo \20

- ' m\/

+ Aoov

/ZNL
.’V\'\, _—

L~~~

—_) 6O

20

m !

qn

1 m!

—
P

I

m————

w9

m !

— T

18

o/
— oo

= 0. O = o

podly SRoV. QpALY




[ED

22 N
M-—soo r +/Q/ +( ) +4OO foo - WM %
InGhis fﬁvﬁaw\u/ olom. T > T = 2 mar9.
720
5 =¢ 2}07‘““185‘ > 2—_}>Tr
%
bo
Yy
POJ& N%OLUNJ ‘5[;.&6% (22/;)"‘/ >. oo M'lOo) A,G' ‘
. 1001‘1\4 \ . 0 %
v Ty To B by T Vo Aot <
M2
/
’T‘%.‘ W\)'ﬁ_;)w < A, < M(L) [ >+(fu (u)««
v { Y
L RGO
7 |
J > < Yol
A} EN
— Vi
=t 22
=
Vi

M oo



(2m)! — 4OL'"\’
o -

W 9 gm/m+g~4mzjw "Z'/Y\/]'

e

+ Y coom

/]

n 'y
)unmm =0 "Oé—%’r mome
CQ,/V9) ! /) (M.—?)
Pocle,  Lowp ho oA lomeme
L Oneclnel” .
’ ~A) (\3“,\” > O

0‘(

M m
.G w( AN
= Lim ! &M'fCMQ "

M=o =~

" (®+ Pl gl
M

—0+0D (2m) | 1
122 i &W

J2+0-0




i “
L m~gﬁ[ﬂb}*3m> (3M+2ML /) @,

M+ L mSL

=@&~ (3+M"74“—> h o
J& + 2m> ~(Mﬁ+3m)

(n® (2+
s (e
+ )’-f [num) /y[!»
‘HM) [Ml Jm)

= () Lim “(‘ =
4+ 3+ !i_ / )
( (4 ) (/+ 1)+("/+~>~)

- ]
‘“(‘%)* T i )‘L- d
o RGN
Z @*~~52‘+(>()+( ) N
() (2-0) = =
4*44+q b

/



i (oo = T ) 0o -
(h— 00

i, W3 (nem)

Moo 3;1 \r_S/_?
"”( Al

—

M) oo m% ( 24... + W) M=o

Rl
= Lim . =°
M_%OO ‘\‘;H\--.'P\);;:t\ \F{-—}-— r)

(3)

I

o
W/@/(g‘;t
(‘I?L,, +\1+.)

el



6 — =
D \r?xﬂg +3x% - R]-’blx"* +2UR x ¥

M —> oo
Q, 7
.W+ \E?;&%m&
aQ * s )

s
—

)

(A)



/!

Lim ((QMZ*LI\)‘(ZM/M)] "
w5\ I (2o

Q/{vi (2m -2) (ZM"*ZL)N\— _ bm (2"\"2—>M

M\~ 0o 2o (2 +2) 2on

—
—

N =) 6o

=1

:QMM( ~ )%: bm(’F%)% = 2:4

e

m——




m =00 m4

Ll .
Leom m \)m,+;»1+;§+£— =
g

IP
= h I L 41 .6
m, M M"'%+m3 +m9

3
L 1
Mt~

2 _ A
- m.,"";t—m}

M-)°\7 2
Mt Tz /.VF) -+ (m-r

‘Q,L‘ 15 2 b
= o ot m> T

L ot 2,
r L )/m+ ) t(mm 5
—

M= oo
2 z
S/ IR (
m* ((4+m’~+m” +m3') f
. 1
- 2 1 Z
mosos (14.)T + (4+..‘)’(4+...)51‘ +("+~-~) 300
1T 2
1 _ g U2
sy Z- . LM’\, [V'\/q 2

S

r

-.3. ﬂkﬂv\,(z—-*%) = _g—(?""D)
T oosq. e Lj(
b T3 i

Mo
L.m\ L ';%(2_7‘;% >



m—>00

| I+ 3 mH o+ T m™ 1 gwé ezl
QA”"” = ' PR
/IOO + 5/y\/3‘ + ?Mé m
loblﬂwm‘}"é— — ém:iﬁ—— 1
msto T LR LS T /’
i =B AT ™ 4
DR N0+ SmP 4 Pt

. m 2mb 43 Y 1

m,
M= m

¥

:bmﬁ\:‘ Liw ( } OO-ED-F/'?“P{i:og

msoo M ( ) O10+7 _

W



3 T - |
Q/\:m\, 2x®4 33 -2 ~ XL (K_J])(sz_rr&_,_Z)
X =5/ # % Xt iy b
X2+ X & X5 =1 x> o (x—ﬂ(xzﬂ)

(2x*+3x*—3x =2): (x-1) = 2> + % 172
— (L x® =242
It —=2x -1
—(5=T1x)
L=
(x*+ x &- X*=1): (x=1) = XU 1y
- (xE-x)
X =1

e

—

—=
_—

= Dy B Tt
W\g
X = 4 Xty q 243 4 =

2+S‘+2.__% 9

]



